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Unit I Number System Chapter 1 Real Numbers

1. Show that every positive even integer is of the form 2q, and that every

positive odd integer is of the form , where q is some integer.

Watch Video Solution

2q + 1

2. Show that the square of any positive odd integer is of the form 4t+ 1,

for some integer t.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_05TKrx0qEdbu
https://dl.doubtnut.com/l/_eUtjpqdi4MDq


Unit I Number System Chapter 1 Real Numbers Self Assessment

Watch Video Solution

3. Use Euclid's division algorithm, to find the HCF of 176 and 38220.

Watch Video Solution

4. Find the HCF of 180, 252 and 324 by Euclid's Division algorithm.

Watch Video Solution

1. Find the HCF of   70,  210,  315.

Watch Video Solution

2. What is the LCM of numbers 12 and 16 ?

h id l i

https://dl.doubtnut.com/l/_eUtjpqdi4MDq
https://dl.doubtnut.com/l/_78mqI3TS9Qoe
https://dl.doubtnut.com/l/_Npid8CRhOtpS
https://dl.doubtnut.com/l/_HFRVEFpNHHU7
https://dl.doubtnut.com/l/_gmW2kkM4npTx


Watch Video Solution

3. Find the product of LCM and HCF of the following pair of integers 510

and 92.

Watch Video Solution

4. Suresh wants to plant 40 orange trees, 20 mango trees, and 30 apple

trees in equal rows (in terms of number of trees). Also, he wants to make

distinct rows of trees (i.e., only type of trees in one row). Find the number

of minimum rows.

Watch Video Solution

5. State whether  is a rational number or not.

Watch Video Solution

1. 2̄ +
1

2

https://dl.doubtnut.com/l/_gmW2kkM4npTx
https://dl.doubtnut.com/l/_fpRK33YPMMPT
https://dl.doubtnut.com/l/_CL5hZLJBYLPo
https://dl.doubtnut.com/l/_TVIihRZoZafM


Unit Ii Algebra Chapter 2 Polynomials

Unit Ii Algebra Chapter 2 Polynomials Self Assessment

6. Find the HCF of 726 and 275 by using Euclid's division lemma.

Watch Video Solution

1. Divide : ( ) by ( x - 1 ) and verify the division algorithm.

Watch Video Solution

x2 − 4x + 3

2. Divide the polynomial  by the polynomial 

 and verify the division algorithm.

Watch Video Solution

6x4 − 44x2 + 6x − 3

x2 − 3x + 1

https://dl.doubtnut.com/l/_ijsB6RwGqIAu
https://dl.doubtnut.com/l/_jBbxuM3HbB6w
https://dl.doubtnut.com/l/_FjmsGcD5L0xS


1. Divide  by x + 1 and find the remainder.

Watch Video Solution

2x2 + 3x − 1

2. Divide  by x - 3.

Watch Video Solution

2x3 − 5x2 − 8x + 15

3. Divide  by .

Watch Video Solution

x3 − 12x2 + 0x − 42 x2 − 2x + 1

4. Prove that :  is completely divisible by 2x

- 3.

Watch Video Solution

2x4 − 9x3 + 21x2 − 26x + 12

https://dl.doubtnut.com/l/_HXvApGqEtQt9
https://dl.doubtnut.com/l/_TOuPEGpCgIgz
https://dl.doubtnut.com/l/_2lFE3LGmieQS
https://dl.doubtnut.com/l/_plkk56bkENJy


Unit Ii Algebra Chapter 3 Pair Of Linear Equations In Two Variables

Unit Ii Algebra Chapter 3 Pair Of Linear Equations In Two Variables Self

Assessment

1. Solve for x and y : 

2x + 3y = 46, 

3x + 5y = 74

Watch Video Solution

2. Solve for x and y , 

8x + 5y - 11 = 0 

3x - 4y - 10 = 0

Watch Video Solution

https://dl.doubtnut.com/l/_uzUhfGTyhXQo
https://dl.doubtnut.com/l/_v6YJPPHVfFkV


1. Find the solution of pair of linear equation x + 2y - 2 = 0 and x - 3y - 7 =

0.

Watch Video Solution

2. If the solution of pair of linear equation 2x - 3y = 13 and 7x - 2y = 20 is x =

2 and y = - 3, then find the value of m for which y = mx + 7.

Watch Video Solution

3. Find the solution of the equations 8x + 5y - 9 = 0 and 3x + 2y - 4 = 0 .

Watch Video Solution

4. Find the solution of x + y = 7 and 2x - 3y = 11 .

Watch Video Solution

https://dl.doubtnut.com/l/_kEhm20Kycrae
https://dl.doubtnut.com/l/_w0rc3515LNou
https://dl.doubtnut.com/l/_fWN2clGgrWcr
https://dl.doubtnut.com/l/_KjtXbiVJlh4i


Unit Ii Algebra Chapter 4 Quadratic Equations

Unit Ii Algebra Chapter 4 Quadratic Equations Self Assessment

1. The sum of the squares of three consecutive natural numbers is 110.

Determine the numbers.

Watch Video Solution

2. A two-digit number is
such that the product of the digits is 12. When 36

is
 added to the number the digits interchange their places. Determine

the
number.

Watch Video Solution

1. The product of two consecutive integers is 132. Find an equation for the

statement. What is the degree of the equations?

Watch Video Solution

https://dl.doubtnut.com/l/_BTdCQJtzuro4
https://dl.doubtnut.com/l/_SAnBlTBce3AL
https://dl.doubtnut.com/l/_H8AbCOP9vyRA


Unit Ii Algebra Chapter 5 Arthmetic Progression

2. Difference between a number and its positive square root is 12. Find

the number.

Watch Video Solution

3. Divide 25 in two parts so that sum of their reciprocals is 1/6.

Watch Video Solution

4. The length of a rectangle is greater than its breadth by 3m. If its area

be 10 sq. m find the perimeter.

Watch Video Solution

https://dl.doubtnut.com/l/_H8AbCOP9vyRA
https://dl.doubtnut.com/l/_61J08zIAmiYu
https://dl.doubtnut.com/l/_WfcRj2hTiIXe
https://dl.doubtnut.com/l/_t69CiMg0fx7s


Unit Ii Algebra Chapter 5 Arthmetic Progression Self Assessment

1. A passenger is charged Rs. 2250 for a cab. The cab owner charge Rs. 500

/- for the 1st hour. For every other hour he charges Rs. 50 less than the

previous hour. Find the number of hours for which the passenger rides

the cab.

Watch Video Solution

1. Price of petrol keep on increasing every year, let us assume that the

price of pertrol in current year is Rs. 100 and every year it increases by Rs.

10. Then after how many every year it will get double.

Watch Video Solution

2. A rubber ball is throuwn, after touching the ground it jumps again and

again and forms a series : 100,90,80… then which is the term in the series

when the ball will be at rest.

https://dl.doubtnut.com/l/_EA6Hws6czE7L
https://dl.doubtnut.com/l/_tQBNRtCI8BJr
https://dl.doubtnut.com/l/_TF3JsP6s7b9t


Unit Iii Coordinate Geometry Chapter 6 Lines In Two Dimensions

Watch Video Solution

3. Ravi invested Rs. 1250 in the first month, then adding Rs. 100 evey

month for the next one year. How much money he deposited in a bank

after one year.

Watch Video Solution

1. The area of a triangle with vertices (a,b+c), (b,c+a) and (c,a+b) is

Watch Video Solution

2. Find the value of , if the points (5,1), (-2,-3) and  are collinear.

Watch Video Solution

α (8, 2α)

https://dl.doubtnut.com/l/_TF3JsP6s7b9t
https://dl.doubtnut.com/l/_ipv9pE35spIw
https://dl.doubtnut.com/l/_8xQBlvSR0gKU
https://dl.doubtnut.com/l/_dpEFQ8GeYF0y


Unit Iii Coordinate Geometry Chapter 6 Lines In Two Dimensions Self

Assessment

1. Find the relation between x and y, if the points (0,0), (1,2) and (x,y) are

collinear.

Watch Video Solution

2. Find the area of the triangle with vertices (0,0), (6,0) and (0,5).

Watch Video Solution

3. Find the area of the triangle if vertices are (1,1), (2,2) and (0,1)

Watch Video Solution

4. Find the area of the quadrilateral with vertices A(1,2), B(2,2), C(3,3),

D(5,3).

https://dl.doubtnut.com/l/_6CnIRpBdWCZk
https://dl.doubtnut.com/l/_p1B4c5KQMHJI
https://dl.doubtnut.com/l/_ZIO0ibb2bGQx
https://dl.doubtnut.com/l/_2qMJQBllkIEe


Unit Iv Geometry Chapter 7 Triangles

Unit Iv Geometry Chapter 7 Triangles Self Assessment

Watch Video Solution

1. The ratio of the the areas of two similar triangles is equal to the ratio

of the squares of their corresponding sides/altitudes.

Watch Video Solution

2. Theorem 6.9 : In a triangle, if square of one side is equal to the sum of

the squares of the other two sides, then the angle opposite the first side

is a right angle.

Watch Video Solution

https://dl.doubtnut.com/l/_2qMJQBllkIEe
https://dl.doubtnut.com/l/_azQYOdB0DWeS
https://dl.doubtnut.com/l/_XUOW86kW9grn


1. The side of two similar triangle  are 35 cm and 45

cm respectively, then find the ratio of the area of triangles.

Watch Video Solution

ΔDEF and ΔLMN

2. If the ratio of corresponding sides of two similar triangles is 5 : 6, then

find ratio of their areas.

Watch Video Solution

3. In

, then find AB.

Watch Video Solution

ΔABC~ΔDEF and ar(ΔABC) = 100cm2, ar(ΔDEF ) = 196cm2 and D

https://dl.doubtnut.com/l/_yqk0rDqa6v80
https://dl.doubtnut.com/l/_g14YuYwiRFE4
https://dl.doubtnut.com/l/_LYpCl8QcqR8L


Unit Iv Geometry Chapter 9 Constructions

Unit Iv Geometry Chapter 9 Constructions Self Assessment

4. In a ,AB = 10 cm, BC = 12 cm and AC = 14 cm. Find the length of

median AD. If G is the centroid, find length of GA.

Watch Video Solution

△ ABC

1. Draw  with sides = 6 cm, 8 cm and 9 cm and then construct a

triangle similar to  whose sides are  or the corresponding

sides of .

Watch Video Solution

ΔABC

ΔA' B' C
3

5

ΔABC

1. To divide a line segment AB in the ratio 4:7, a ray AX is drawn first such

that  is an acute angle and then points  are∠BAX A1, A2, A3, …. .

https://dl.doubtnut.com/l/_oiKJS8ANzuON
https://dl.doubtnut.com/l/_7O1VgxIGbFeZ
https://dl.doubtnut.com/l/_ES1TqvnSYGQi


located at equal distance on the ray AX and the point B is joined to

Watch Video Solution

2. In a triangle ABC, AB = 8 cm, AC = 10 cm and , then the area of

 is

Watch Video Solution

∠B = 90∘

ΔABC

3. Darw a triangle ABC with side BC=6.5cm, . Then

construct another triangle whose sides are  times the corresponding

sides of the triangle ABC

Watch Video Solution

∠B = 30∘ , ∠A = 105∘

3

4

4. Draw a triangle ABC with side BC = 6 cm, AB = 5 cm and .

Then construct a triangle whose sides are  of the corresponding sides

of the triangle ABC.

∠ABC = 60∘

3

4

https://dl.doubtnut.com/l/_ES1TqvnSYGQi
https://dl.doubtnut.com/l/_ztUGILpddTRY
https://dl.doubtnut.com/l/_7X7gzampTglz
https://dl.doubtnut.com/l/_D3czbLI15dzQ


Unit V Trigonometry Chapter 10 Introduction To Trigonometry And

Trigonometric Identities

Unit V Trigonometry Chapter 10 Introduction To Trigonometry And

Trigonometric Identities Self Assessment

Watch Video Solution

1. If cos 2A = sin , find A.

Watch Video Solution

(A − 15∘ )

1. Find the value of .

Watch Video Solution

cos 56∘

sin 34∘

2. Evaluate : 

Watch Video Solution

(cos 65∘ sin 18∘ cos 58∘ )

(cos 72∘ sin 25∘ sin 32∘ )

https://dl.doubtnut.com/l/_D3czbLI15dzQ
https://dl.doubtnut.com/l/_OQlmDzyaqmXl
https://dl.doubtnut.com/l/_k6LAOwp9uYRf
https://dl.doubtnut.com/l/_1HXBw5uV0u7r


Unit Vi Mensuration Chapter 12 Areas Related To Circles

3. If sin  where  are both

acute angles then find the value of .

Watch Video Solution

(36 + θ) ∘ = cos(16 + θ) ∘ (36 + θ) ∘ , (16 + θ) ∘

θ

4. Find the value of 

Watch Video Solution

+
sin 25∘

cos 65∘

tan 23∘

cot 67∘

5. Evaluate : .

Watch Video Solution

tan 35∘ tan 60∘ tan 30∘ tan 65

https://dl.doubtnut.com/l/_1HXBw5uV0u7r
https://dl.doubtnut.com/l/_a93EtnQYJfkS
https://dl.doubtnut.com/l/_0aUq4l8lPPLI
https://dl.doubtnut.com/l/_S2uTZxVhoyF9


Unit Vi Mensuration Chapter 12 Areas Related To Circles Self Assessment

1. What is the length of the chord which subtends 120 degress at the

centre of the circle ?

Watch Video Solution

1. Find the length of the chord which subtends an angle of  at the

centre of the circle of radius 6 cm.

Watch Video Solution

120∘

2. A chord of length 10 cm subtends an angle of  at the centre of the

circle. Find the distance of the chord from the centre.

Watch Video Solution

120∘

https://dl.doubtnut.com/l/_VTnToCLsYkL5
https://dl.doubtnut.com/l/_OPqExneeqR9T
https://dl.doubtnut.com/l/_V8vXxNNtQUdf


Unit Vi Mensuration Chapter 13 Surface Areas And Volumes

Unit Vi Mensuration Chapter 13 Surface Areas And Volumes Self Assessment

3. A chord of a circle of radius 12 cm subtands an angle of  at the

centre. Find the aera of the corresponding segment of the circle.

Watch Video Solution

120∘

(Useπ = 3.14, √3 = 1.73)

1. A petrol tank is in the form of a frustum of a cone of height 20 m with

diameters of its lower and upper ends as 20 m and 50 m respectively. Find

the cost of petrol which can fill the tank completely at the rate of Rs. 70

per litre. Also find the surface area of the tank

Watch Video Solution

https://dl.doubtnut.com/l/_TRKbSTAA2uA3
https://dl.doubtnut.com/l/_sxNhE1kT9iih


1. If the
areas of circular bases of a frustum of a cone are 
and 

respectively
and the height of the frustum is 12 cm. What is the volume of

the frustum?

Watch Video Solution

4 cm2 9 cm2

2. If the radii of circular ends of a frustum of a cone are 20 cm and 12 cm

and its length is 6 cm, then find the slant height of frustum.

Watch Video Solution

3. The radii
of the circular ends of a solid frustum of a cone are 33 cm and

27 cm and its
slant height is 10 cm. Find its total surface area.

Watch Video Solution

https://dl.doubtnut.com/l/_N7qVdKd7iVcT
https://dl.doubtnut.com/l/_XuNQlE01AjNw
https://dl.doubtnut.com/l/_xrzCQCZXn7um


Unit Vii Statistics And Probability Statistics

Unit Vii Statistics And Probability Statistics Self Assessment

4. The radii of the circular ends of a frustum of height 6cm are 14cm and

6cm respectively. Find the lateral surface area and total surface are of the

frustum.

Watch Video Solution

1. The following frequency distribution shows the distance (in metres)

thrown by 68 studentsin a Javelin throw competition.Distance (in m) `0-

10,10-20 20-30 30-40 40-50 50-60 60-70 Number of students 4 5 13 20 14 8

4

Watch Video Solution

https://dl.doubtnut.com/l/_ROYxQStRXGHb
https://dl.doubtnut.com/l/_sUCM2yMdQI9Q


1. A page from Richa's pass book is given below. Answer the following

question by finding the missing entries. She closes her account on

 





 


Find the amount on which she will receive interest on closing her

account.

Watch Video Solution

30 − 6 − 2007.

https://dl.doubtnut.com/l/_KQQOs6IA3lLo


2. In Fig, find the value of . 

Watch Video Solution

x

https://dl.doubtnut.com/l/_7HDWQ31THSoa

